Adding Tens and Ones

Find the sum.

50 + 8 = 0+ 2 =
40 + 9 = 20+ 8=
10+5= 90 + 3 =
/0+3 = 30+1=
20 + 8 = 50 + 3 =
50+ 4 = 80 + 8 =
407 = 10+ 8=
60 + 5 = 30+ 7 =
40+ 0 = 60 + 7 =
20 + 5 = 40 + 2 =

Go to onlinemathlearning.com for more worksheets




Adding Tens and Ones

Find the sum.

50 + 8 = 58
40 + 9 = 49
10 +5=15
70 +3 = 73
20 + 8 = 28
50 + 4 = 54
40 + 7 = 47
60 + 5 = 65
40 + 0 = 40
20 + 5 = 25

50 + 2 = 52
20 + 8 = 28
90 + 3 = 93
30+ 1 = 31
50+ 3 =53
80 + 8 = 88
10+8=18
30+ 7 =37
60 + 7 = 67
40 + 2 = 42
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